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KEY AND MARKING SCALE
Please accept any appropriate answer not mentioned in this key.
I. COMPREHENSION (15 POINTS)
Testees should not be penalised for spelling and grammar mistakes in the comprehension section.
A. THE RIGHT ANSWER. (2 pts)
The right answer is b. the success story of an autistic kid.
B. TRUE OR FALSE: (3 pts) (1 pteach: 0.5 pt for the right choice and 0.5 pt for the right

justification. Consider the justification ONLY if the choice is correct. Quotes from the text are
acceptable)

1. F. He also taught himself how to type on a computer.
2. T. By the time he was one year old, he could point to all the letters and numbers.

3. F. He went to Oxford university at the age of six and he was diagnosed with autism when he was seven
years old.

C. WH QUESTIONS: (3 pts; 1 pt each)
1. It taught him that he can have the confidence to do anything.

2. He explained to him that he was born with lots of gifts and that he learned differently from other people/
he let him read books which explain what autism is.

3. He helped to spread their campaign mission of highlighting obstacles autistic people face when trying to
obtain access to necessary support and services.

D. SENTENCE COMPLETION: (2 pts; 1 pt each)
1. .... gave a talk at the International Conference in Vienna.

2. ....never give up and not to listen to people who try to put you down/create new goals that you know
you can achieve.

E. WORD REFERENCE: (2 pts; 1 pt each) 1. Joshua’s father 2. Oxford university

F. WORD MEANING: (3 pts; 1 pt each) 1. specialists 2. passed 3. obstacles
Il. LANGUAGE (15 POINTS)

A. GAPFILLING: (3 pts; 1 pteach) 1. must 2.putoff 3. where
B. WORD FORM: (2 pts; 1 pt each) 1. participation 2. competitive
C. VERB TENSE: (3 pts; 1 pteach) 1. got/ had already left (accept ONLY the past perfect)

2. will have destroyed
D. SENTENCE REWRITING: (3 pts; 1 pt each)
.. are discovered every year (by scientists)
.. that the stadium would be closed for six months.

3. Although the confinement during Covid 19 was hard for people, it was efficient in fighting the pandemic.
E. MATCHING: (2 pts; 1 pt each) 1. b 2.C

F. RESPONDING TO SITUATIONS: (2 pts; 1pteach) Accept any correct and appropriate answer.

1.
2..

1. WRITING (10 POINTS; Task 1: 4 pts; Task 2: 6 pts)
The following criteria should be respected while scoring the writing tasks.
Scoring criteria Task 1 Task 2
Relevance of content to the task 2 pts 3 pts
Appropriateness and variety of vocabulary 1pt 2 pts
Grammar and mechanics 1pt 1pt
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